Set no-28

. Because of his misbehaviourhe is bound to face the music
(a) Get finished (b) listen to the music
(c) bear the consequences (d) feel sorry

. The working of the factory was disrupted on account of a token strike by
the workers

(a) total strike

(b) carefully planned strike

(c) short strike held as a warning

(d) sudden call of strike

. By opposing his proposal I fell foul of him

(a) quarrelledwith (b) felt annoyed with
(c) agreed with (d) did not agree with
. Those who work by fits and starts seldom show good results
(a) rarely (b) disinterestedly
(c) irregularly (d) regularly

. The new manager thought that he would give employees enough rope
(a) many directives and orders

(b) sufficient advice

(c) all the material they needed

(d) enough freedom for action

. He was all at sea when he began his new job .

(a) happy (b) sad
(c) puzzled (d) triumphant
. His promotion is on the cards
(a) certain (b) probable
(c) evident (d) due
. She rejected his proposal of marriage point blank
(a) directly (b) briefly

(c) abruptly (d) pointedly



9. Have you given up the idea of accepting the new assignment.

(a) postponed (b) abandoned
(c) amended (d) adopted
10.Caesar was done to death by the conspirators
(a) eliminated (b) attacked
(c) murdered (d) removed
Answer

1. (c) 2. (¢) 3. (a) 4. (¢) 5. (d)
6. (c) 7. (b) 8. (a) 9. (b) 10. ()



